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1. Kirchhoff’s law is not application to 

circuits with : 

(A) lumped parameters  

(B)  passive elements 

(C)  distributed parameters 

(D)  non-linear resistances 

2. The circuit whose properties are same in 

either direction is known as : 

(A) unilateral circuit 

(B)  bilateral circuit 

(C)  irreversible circuit 

(D)  reversible circuit 

3. Which of the following is not a non-linear 

element ? 

(A) Gas diode 

(B)  Heater coil 

(C)  Tunnel diode 

(D)  Electric arc 

4. Application of Norton’s theorem to a 

circuit yields : 

(A) equivalent current source and 

impedance in series 

(B)  equivalent current source and 

impedance in parallel 

(C)  equivalent impedance 

(D)  equivalent current source 

5. Which of the following is a bilateral 

element ? 

(A) Constant current source 

(B)  Constant voltage source 

(C)  Capacitance 

(D)  None of the above 

6. After how many time constants, the 

transient part reaches more than  

99 percent of its final value ? 

(A) 2 

(B)  3 

(C)  4 

(D)  5 

7. Two ports containing no sources in their 

branches are called : 

(A) active ports 

(B)  passive ports 

(C)  on port 

(D)  three ports 
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8. An RLC series circuit is underdamped. 

To make it overdamped, the value of  

R : 

(A) has to be increased. 

(B)  has to be decreased. 

(C)  has to the increased to infinity. 

(D)  has to the reduced to zero. 

9. In a minimum function : 

(A) the degree of numerator and 

denominator are equal. 

(B)  the degree of numerator and 

denominator are unequal. 

(C)  the degree of numerator is one 

more than degree of denominator. 

(D)  the degree of numerator is one less 

than degree of denominator. 

10.   
2

V( ) 4
H( )

I( ) ( 3)

s s
s

s s


 


 and i(t) is a 

unit step, then V(t) in the steady state is 

given by : 

(A) 4/9 

(B)  4/3 

(C)  0 

(D)  1 

11. For a transmission line open circuit and 

short circuit impedances are 20  and   

5 , then characteristic impedance is : 

(A) 100  

(B)   20  

(C)   50  

(D)   10  

12. An RLC series circuit has R =  8 ,  

XL =  8  and  XC = 8  its impedance 

is : 

(A) 8 + j16  

(B)  8 + j8  

(C)  8  

(D)  18  

13. Double integration of unit step function 

leads to : 

(A) an impulse 

(B)  a parabola 

(C)  a ramp 

(D)  a doublet 
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14. A network has 10 nodes and 17 branches. 

The number of different node pairs are : 

(A) 7 

(B)  9 

(C)  10 

(D)  45 

15. The time constant of the network in 

figure is : 

 

 

  

(A) RC 

(B)  3 RC  

(C)  2/3 RC 

(D)  3/2 RC 

16. The function 
2

2 2

 ( )
Z( )

( 1) ( 16)

s s a
s

s s




 
 :  

(A) is a reactance function. 

(B)  is an RC function. 

(C)  is an RL function. 

(D)  may be reactance function or RC 

function. 

17. The poles of an RC function .............. . 

(A) are simple and lie or negative real 

axis 

(B)  are simple and lie on -axis 

(C)  must be complex conjugate 

(D)  may be anywhere on s-plane 

18. Damping ratio =  

(A) Actual resistance/Critical resistance 

(B)  Critical resistance/Actual resistance 

(C)  Critical resistance 

(D)  None of the above 

19. For an R-C impedance function, the 

residues at all poles are : 

(A) real 

(B)  imaginary 

(C)  real and positive 

(D)  positive 

20. A two port networks is reciprocal if and 

only if : 

(A) Z11 = Z22 

(B)  BC – AD = – 1  

(C)  Y12 = Y21 

(D)  h12 = h21 
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21. In terms of ABCD parameters, the image 

parameter Z11 is equal to : 

(A) AC/BD 

(B)  BD/AC 

(C)  AB/CD 

(D)  AD/BC 

22. A circuit said to be lumped when physical 

dimensions of all the component are : 

(A) greater compared with wavelength 

of electromagnetic signal  

(B)  small compared with wavelength 

electromagnetic signal 

(C)  negligible compared with 

wavelength of electromagnetic 

signal 

(D)  equal compared with wavelength of 

electromagnetic signal 

23. If a function Z(s) has a pole at infinity, 

then : 

(A) the degrees of numerator and 

denominator are equal. 

(B)  the degree of numerator is one 

higher than that of denominator. 

(C)  the degree of denominator is one 

higher than that of numerator. 

(D)  the difference between the degree 

of numerator and denominator is 0 

or 1. 

24. A capacitor with initial charge q0 at t = 0
+
  

acts as : 

(A) current source 

(B)  voltage source 

(C)  short-circuit 

(D)  open-circuit 

25. A system described by the following 

differential equation : 

 

2

2
3 2 ( )

d y dy
y x t

dtdt
  

  

is initially rest for input x(t) = 2u(t), the 

output y(t) is : 

(A) – –2(1 – 2 ) ( )t te e u t  

(B)  – –2(1 2 2 ) ( )t te e u t   

(C)  – –2(0.5 1.5 ) ( )t te e u t   

(D)  – –2(0.5 2 2 ) ( )t te e u t   

26. Laplace transform of t
n
 is : 

(A) 
S 1n

n


 

(B)  0 

(C)  
1

S 1n

n 


 

(D)  
Sn

n
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27. In a circuit containing a complex 

impedance, maximum power transfer 

takes place when load is : 

(A) pure resistance 

(B)  equal to the complex impedance 

(C)  conjugate complex of the circuit 

impedance 

(D)  None of the above 

28. In figure, the current through R is 1 A 

when VA = 0 and VB = 15 V. If both VA 

and VB are : 

 

 

 

increased by 15 V each, current through 

R will be : 

(A) 1 A  

(B)  0.5 A 

(C)  3 A 

(D)  0.33 A 

29. The Thevenin equivalent circuit to the 

left of AB has Req :  

 

 

  

(A) 2  

(B)  4  

(C)  1  

(D)  3  

30. In terms of z-parameters, the condition 

for the network to be passive is : 

(A) 11 22Z Z  

(B)  12 21Z Z  

(C)  11Z 0  

(D)  22Z 0  

31. Assertion (A) : The number of basic 

loops is equal to number of links.  

Reason (R) : The graph theory helps in 

choosing independent variables in circuit 

analysis  : 

(A) Both A and R are true and R is 

correct explanation of A. 

(B)  Both A and R are true and R is not 

the correct explanation of A. 

(C)  A is true but R is false. 

(D)  A is false but R is true. 

32. A network contains linear resistors and 

ideal voltage sources. If values of all the 

resistors are  doubled, then the voltage 

across each resistor is : 

(A) half 

(B)  doubled 

(C)  increases by 4 times 

(D)  no change 
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33. A graph is a tree if and only if it : 

(A) is completely connected. 

(B)  is planar. 

(C)  contains a act. 

(D)  is minimally connected. 

34. A series R-L circuit with R = 30  and  

L = 15 H has a constant voltage V = 60 V 

applied at t = 0 as shown in the figure. 

Determine the current (A) in the circuit  

at  t = 0
+
. 

 

 

 

  

(A) 1 

(B)  2 

(C)  3 

(D)  0 

35. The expression of current obtained from 

the circuit is terms of differentiation from 

the circuit shown in fig. below : 

 

 

 

 

(A) / 4di dt i   

(B)  / 2 0di dt i   

(C)  / 2 4di dt i   

(D)  / – 2 4di dt i   

36. A tree with n nodes has : 

(A) n/2 edges 

(B)  n edges 

(C)  n – 1 edges 

(D)  n + 1 edges 

37. A graph in which all nodes are of equal 

degree is called : 

(A) Multigraph 

(B)  Non-regular graph 

(C)  Regular graph 

(D)  Complete graph 

38. Which type of network allow the physical 

separability of the network elements 

(resistors, inductors and capacitors) for 

analysis purpose ? 

(A) Lumped Networks 

(B)  Distributed Networks 

(C)  Unilateral Networks 

(D)  Bilateral Networks 

39. How is the loop analysis different in 

application/functioning level as compared 

to Kirchhoff’s law ? 

(A) Utilization of loop currents instead 

of branch currents for writing 

equations 

(B)  Capability of branch current to 

carry multiple networks 

(C)  Reduction in the number of 

unknowns for complex networks 

(D)  All of the above 
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40. What should be done, if the dependent 

current and voltage sources are present in 

a circuit while applying ‘Superposition 

Theorem’ ?  

(A) Replace them by open circuit 

(B)  Replaced them by short circuit 

(C)  Keep in their original form without 

replacing by either open or short 

circuits 

(D)  None of the above 

41. How many number of minimum end 

nodes or terminal nodes are involved in a 

tree, according to its properties ?  

(A) Only one 

(B)  Two 

(C)  Four  

(D)  Infinite 

42. If a differential equation is said to be 

homogeneous, what would be the value 

of a forcing function ? 

(A) 0 

(B)  1 

(C)    

(D)  –1 

43. Which element behave as an open circuit 

especially under the consideration of d.c. 

quantities ? 

(A) Inductors 

(B)  Resistors 

(C)  Capacitors 

(D)  None of the above 

44. Which among the following get/(s) 

cancelled under the resonance condition 

in a.c. circuits, if inductive and capacitive 

reactances are in parallel ? 

(A) Reactance 

(B)  Susceptance 

(C)  Resistance 

(D)  None of the above 

45. Which type of impedance in 

asymmetrical network is estimated at a 

single pair of network terminals 

especially in the chain of infinite 

networks ? 

(A) Image impedance 

(B)  Iterative impedance 

(C)  Characteristic impedance 

(D)  None of the above 
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46. Where do the ‘correctly terminated 

asymmetrical networks’ show termination 

at both the ports of network ? 

(A) In image impedances  

(B)  In iterative impedances 

(C)  In characteristic impedance 

(D)  None of the above 

47. Which unit is used for the measurement 

of an insertion loss ? 

(A) Neper 

(B)  Weber 

(C)  Ohm 

(D)  Watt 

48. Which type of attenuators provide a fixed 

amount of attenuation by allowing the 

user to vary the attenuation in multiple 

steps ?  

(A) Ladder attenuators 

(B)  Variable-value attenuators 

(C)  Pad attenuators 

(D)  All of the above 

49. How does the ‘’ of complex frequency 

variable appear in time domain ? 

(A) As a linear power 

(B)  As a reactive power 

(C)  As an exponential power  

(D)  As an iterative power 

50. When a network function is expressed as 

a ratio of Laplace transforms of output to 

input variables of a system, then it is 

regarded as : 

(A) System function 

(B)  Transfer function 

(C)  Both (A) and (B) 

(D)  None of the above 

51. Which one of the following statements is 

not a property of RL driving point 

impedance ?  

(A) The first critical frequency at the 

origin is a zero. 

(B)  The last critical frequency is a pole. 

(C)  The impedance at S =   always 

less than the impedance at S = zero. 

(D)  The slope of the impedance curve is 

positive at all points.  
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52. An RC impedance function has a constant 

value at s = 0. The last elements in the 

first cauer synthesis : 

(A) will be a capacitor 

(B)  may be R or C 

(C)  will be R 

(D)  will depend on the behaviour of 

function at s =   

53. In figure, the ratio V24/V23 is : 

 

 

  

(A) 
1

3
 

(B)  
2

3
 

(C)  
3

4
 

(D)  
4

3
 

54. Two port z-parameter not exist for the 

circuit, if : 

(A) 0z   

(B)  –1z   

(C)  1z   

(D)  always exist 

55. For a reactance function H(s), the slope 

dH (j ) / d is : 

(A) 0 

(B)  always positive 

(C)  always negative 

(D)  either 0  or positive 

56. Which one is correct option, if initial 

conditions is not zero, for inductor (L) 

and capacitor (c) ? 

–
L

L

(0 )
I ( )

i
s

s
 L L

1
V ( ) I ( )

L
s s

s
  

–
L L

1
= (0 ) + V ( )

L
i s

s
 
   

–
C

C C

V (0 ) 1
V ( ) ( )

C
s i s

s s
   

–
C C C

1
V ( ) V (0 ) I ( )

C
s s

s
     

(A) 1, 3 

(B)  3, 2 

(C)  4, 1 

(D)  2, 4 
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57. The  roots of the odd and even parts of a 

Hurwitz polynomial P(s) lie on : 

(A) right half of s-plane 

(B)  lift half of s-plane  

(C)  j-axis 

(D)  -axis 

58. If the ratio of the polynomial P(s) and its 

derivative gives a continued fraction 

expansion with .............. coefficients, 

then the polynomial P(s) is Hurwitz. 

(A) all negative 

(B)  all positive 

(C)  positive or negative 

(D)  positive and negative 

59. The poles and zeros of driving point 

impedance function and driving point 

admittance function lie on : 

(A) left half of s-plane only 

(B)  right half of s-plane only 

(C)  left half of s-plane or imaginary 

axis 

(D)  right halt of s-plane or imaginary 

axis 

60. Consider a function : 

5 ( 1) ( 4)
Z( )

( 3) ( 5)

s s
s

s s

 


 
  

Find the value of R1 after performing the 

first form of Foster method : 

(A) 1/3 

(B)  2/3 

(C)  3/3 

(D)  4/3 

61. The ratio of transform voltage to the 

transform current is defined as .......... of 

the resistor. 

(A) transform voltage 

(B)  transform current 

(C)  transform impedance 

(D)  transform admittance 

62. The transform impedance of the capacitor 

is : 

(A) C 

(B)  1/C 

(C)  sC 

(D)  1/sC 
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63. Consider a function  : 

5 ( 1) ( 4)
Z( )

( 3) ( 5)

s s
s

s s

 


 
 

Find the value of L1 after performing the 

first form of Foster method : 

(A) 5/9 

(B)  4/9 

(C)  15/9 

(D)  2/9 

64. The transform admittance of the inductor 

is : 

(A) 1/sL 

(B)  sL 

(C)  1/L 

(D)  L 

65. The imaginary part of the complex 

frequency is called : 

(A) radian frequency 

(B)  neper frequency 

(C)  sampling frequency 

(D)  angular frequency 

66. Consider the admittance function,  

2

2

((2 16 30))
Y( )

( 6 8)

s s
s

s s

 


 
   

Determine the value of R  after 

performing the second from of Foster 

method : 

(A) 3 

(B)  2 

(C)  1 

(D)  5 

67. Consider the admittance function :  

    
2

2

((2 16 30))
Y( )

( 6 8)

s s
s

s s

 


 
 

Determine the value of L2 after 

performing the second from of Foster 

method : 

(A) 10 

(B)  1 

(C)  0 

(D)  5 

68. The driving point impedance of a one-

port reactive network is given by : 

2 2

2

5( 4) (s 25)
Z( )

( 16)

s
s

s s

 



   

After taking the partial fractions, find the 

coefficient of 1/s : 

(A) 25/4 

(B)  50/4 

(C)  100/4 

(D)  125/4 
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69. The function 
2 2

2

( 1) ( 9

( 4)

s s

s s

 


 is : 

(A) RC function 

(B)  LC function 

(C)  RL function 

(D)  RC or RL function 

70. If a two port network is represented by an 

equivalent T network the admittance of 

series arm in term of ABCD parameter is 

equal to : 

(A) C 

(B)  1/C 

(C)  (A – 1)/ B 

(D)  1/B 

71. At very low frequencies as series R-C 

circuit behaves as almost purely ............ . 

(A) resistive 

(B)  inductive 

(C)  capacitive 

(D)  None of the above 

72. Kirchhoff’s current law is applied  

at ............ . 

(A) loops 

(B)  nodes 

(C)  Both loop and node 

(D)  None of the mentioned 

73. Superposition theorem can applied only 

to circuits having : 

(A) resistive  

(B)  passive elements 

(C)  non-linear elements 

(D)  linear bilateral elements 

74. When a current source I is suddenly 

connected across a two terminal relaxed 

RC circuit at time t = 0, the voltage 

across the current source is figure. The 

RC circuit is : 

 

 

 

 

: 

    

(A) a series combination of R and C 

(B)  a parallel combination of R and C 

(C)  a series combination of R and 

parallel combination of R and C 

(D)  a pure capacitor 
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75. What does the connectivity of energy 

source at the port of network known as ? 

(A) Driving Point  

(B)  Transfer Point 

(C)  Both (A) and (B) 

(D)  None of the above  

76. Ideal voltage source have : 

(A) Zero internal resistance 

(B)  infinite internal resistance 

(C)  Low value of current 

(D)  Large value of e.m.f. 

77. Ideal current source have : 

(A) Zero internal resistance 

(B)  Infinite internal resistance 

(C)  Low value of current 

(D)  Large value of e.m.f. 

78. For a voltages source : 

(A) Terminal voltage is equal to the 

sources e.m.f. 

(B)  Terminal voltage cannot exceed 

source e.m.f. 

(C)  Terminal voltage is always lower 

than source e.m.f. 

(D)  Terminal voltage is higher than 

source e.m.f. 

79. Constant voltage source is : 

(A) Active and bilateral 

(B)  Passive and bilateral 

(C)  Active and unilateral 

(D)  Passive and unilateral 

80. The terminals across the source are 

............ if an current source is to be 

neglected. 

(A) Open-circuited 

(B)  Short-circuited 

(C)  Replaced by a capacitor 

(D)  Replaced by a source resistance 

81. The transform admittance of the capacitor 

is : 

(A) C 

(B)  1/C 

(C)  sC 

(D)  1/sC 

82. In figure the total inductance of the 

circuit is : 

 

 

(A) L1 + L2 

(B)  L1 + L2  + M 

(C)  L1 + L2  + 2M 

(D)  L1 + L2  + M 
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83. If the two ports  are connected in cascade 

configuration, then which arithmetic 

operation should be performed between 

the individual transmission parameters in 

order to determine overall transmission 

parameters ?  

(A) Addition 

(B)  Subtraction 

(C)  Multiplication 

(D)  Division 

84. Which among the following represents 

the precise  condition of reciprocity for 

transmission parameters ? 

(A) AB – CD = 1 

(B)  AD – BC = 1 

(C)  AC – BD = 1 

(D)  None of the above 

85. Which oscillations will be generated in 

time domain response, if complex 

conjugate poles are present with negative 

real part ? 

(A) Damped oscillations 

(B)  Undammed oscillations 

(C)  Sustained oscillations 

(D)  None of the above 

86. If the value of (P1 / P2) in power ratio 

expressed in terms of dB is greater than 

unity, what does ‘D’ indicate in the 

network ? 

(A) Power loss 

(B)  Power gain 

(C)  Power stability 

(D)  Power saving  

87. Which among the following is regarded 

as short circuit forward transfer 

admittance ? 

(A) y11 

(B)  y12 

(C)  y21 

(D)  y22 

88. What is an ideal value of network 

function at poles ? 

(A) Zero 

(B)  Unity 

(C)  Infinity 

(D)  Finite and non-zero 
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89. If the complex system function is analytic 

in nature, the points in s-plane are 

regarded as : 

(A) Ordinary points 

(B)  Singular points 

(C)  Multiple points 

(D)  All of the above 

90. If absolute potential of A is – 8 V and 

that of  B is – 16 V, VAB is equal to : 

(A) 24 V 

(B)  12 V 

(C)  8 V 

(D)  14 V 

91. The expression of current in R-L circuit  

is : 

(A) i = (V/R) (1 + exp ((R/L)t)) 

(B)  i = – (V/R) (1 – exp ((R/L)t)) 

(C)  i = – (V/R) (1 + exp ((R/L)t)) 

(D)  i = (V/R) (1 – exp ((R/L)t)) 

92. Which of the following theorems is a 

manifestation of law of conservation of 

energy ? 

(A) Tellegen’s  theorem 

(B)  Reciprocity theorem 

(C)  Thevenin’s theorem 

(D)  Norton’s theorem 

93. If two networks are cascaded, then : 

(A) [y] = [ya] . [yb] 

(B)  [Z] = [Za] . [Zb] 

(C)  [aa] = [bb] 

(D)  [aa] + [bb] 

94. In the circuit shown in fig., find the 

current through 4resistor using 

Superposition theorem : 

 

 

 

 

(A) 4 

(B)  5 

(C)  6 

(D)  7 
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95. Which parameter should be essentially 

equal to the number of nodes in the 

network in accordance to the principle of 

duality ? 

(A) Total impedance 

(B)  Total admittance 

(C)  Number of meshes 

(D)  Number of voltage sources 

96. When a network function is expressed as 

a ratio of Laplace transforms of output to 

input variables of a system, then it is 

regarded as : 

(A) System function 

(B)  Transfer function 

(C)  Both (A) and (B) 

(D)  None of the above 

97. Which element act as an independent 

variables in Y-parameters ? 

(A) Current 

(B)  Voltage 

(C)  Both (A) and (B) 

(D)  None of the above 

98. Kirchhoff’s current law is applicable to 

only : 

(A) junction in a network 

(B)  closed loops in a network 

(C)  electric circuits 

(D)  electronic circuits 

99. The circuit whose properties are same in 

either direction is known as : 

(A) unilateral circuit 

(B)  bilateral circuit 

(C)  irreversible circuit 

(D)  reversible circuit 

100. Which law plays a significant role of the 

loop analysis of the network ?  

(A) KCL 

(B)  KVL 

(C)  Law of Superposition Theorem 

(D)  None of the above 
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4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the  correct 
answer and mark the same in the OMR 
Answer-Sheet as per the direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

lgh mŸkj Nk¡Vuk gSA mŸkj dks OMR vkUlj&’khV esa 

lEcfU/kr iz’u la[;k esa fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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